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i solucion:
Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yeen, Xi+3] f (X) — X2 +3x-2
1| 2 6 1 0
2| 8 9 1
4| 26 12
5|38
Xi [fi ] FIxi Xiea] | FIXi o Xis Xie2] | F[Xi e, Xing]
-2 -8 |0 1 0
-1 -8 |4 1 0
2 |4 |8 1 ic
solucion:
3 112 |11 _ 2 )
e f(X)=-x"+3x-6
Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yors, Xi+3]
-2 |-8 0 1 0 0
-1 |-8 4 1 0
2 |4 8 1 solucion:
3 |12 11 f(x)=-x*+5x+3
5 |34
xi |fi fIxi Xiea] | f X Xisg, Xis2] | f[Xi e, Xing]
1 |-3 7 -1 1
-2 |-24 4 3 solucion:
_ 3 2
2 10 o5 f(x)=x"-4x
5 |25
Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yors, Xi+3]
-3 | 126 -59 18 -4 0
-1| 8 -5 -10 -4
0 3 -55 -34 .
4217 225 solucion:
5 | 442 f(X)=-4x"+2x"+x +3
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Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yors, Xi+3]
112 |6 1 0 solucion:
2 |8 |10 1 f(x)=x%+3x-2
5 138 |12
4 |26
: f f i Xt f i Xt iy f — . .
)(()l _'2 [Xi 7X| 1] [Xi X|11, Xi+2] [Xi O, Xi+3] 5 solucién: 2
4026 12 1 0 F(x)=x"+3x-2
5|38 10 1
2| 8 6
1| 2
Xi |fi | FIX Xiea] | FIX Xieg Xis2] | F[Xi ... Xisg]
-3 -2 |-2 1 0
2 |4 |2 1
1 (2 |8 solucion:
4 26 f(x)=x%+3x -2
Xi fi f [Xi ,Xi+1] f [Xi WXi+1, Xi+2] f [Xi your, Xi+3]
4 |26 |8 1 0
1 (2 |1 1
-3 (-2 |-2 solucion;
2 -4 f (X) = -2+3x+x°
Xi [fi | F[xi Xied] | FIXi Xisg, Xie2] | F[Xiseo., Xing)]
5 |38 |9 1 0 0
1 (2 |8 1 0 0
4 |26 |9 1 0 0
2 |8 |5 1 0 | solucioén:
0 [-2 |0 1 f (X) = -2+3x+x°
-3 -2 [-2
2 |4 ]
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Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yors, Xi+3]
162 5 7 1 0.2 solucién:
2 |11.2| 26 4 0 f(x) =x*/5 +2x+4
4 63.2 10 4
-2 32 -22
-4 147.2
Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yoen, Xi+3] —
3126 71 -2 -4 0| | solucion: . .
5| -442| -75 -14 -4 f (X) = 3+x+2x" —4x
-1 8 -5 -10
0 3 -55
4 | -217
Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi yors, Xi+3]
0 |0 12 -2 1 0
-2 |-24 |4 3 1
4 10 25 4 solucioén:
5 |25 |5 f(x) = x° —4x2
-1 |-5
Xi fi fIX Xiea] | F[Xi Xisz, Xieo] | F[Xi yeon, Xiag] solucion:
5] -6.25 -38.25 -9.25 -1.75 -.25 f (x) = x*/5 + 6x°
4 32 8 3 -1.25
0 0 -10 4.25
2| 20 2.75
3 | 33.75
Xi fi f [Xi ,Xi+1] f [Xi Xi+1, Xi+2] f [Xi your, Xi+3]
0| 2 -4 4 1 0
1]-2 8 8 1
3|14 32 > solucion:
4 | 46 ! f (x) = 2-5x +x°
2| 4




